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What is the value of 2x® + 4x*> — 3x* — 6x when x = 3?

Show your work.

Answer
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Common Core Learning Standard Assessed: 6.EE.2c

Evaluate expressions at specific values of their variables. Include expressions that arise
from formulas used in real-world problems. Perform arithmetic operations, including those
involving whole-number exponents, in the conventional order when there are no
parentheses to specify a particular order (Order of Operations). For example, use the
formulas V = s® and A = 6s? to find the volume and surface area of a cube with sides of
length s = %4.
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What is the value of 2x® + 4x*> — 3x* — 6x when x = 3?

Show your work.

2x33+4x%x32-3%x32-6x%x3
=2X274+44Xx9—-3Xx9—-6x%x3
=54+36—27—-18
=90-27-18
=63—18 =45

Answer 45
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S What is the value of 2x° + 4x* — 3x* — 6x when x = 3?

| Show your work.

R 'HI l~-3. 2 —6x
,33+4 [ 3”-'633
X ?,74-4)((1 -39 "g X

27~
4y 327 &

-8
4

Guide Paper 1
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Paper RF Number Score Notes

- ——— —————————— |
go1 N/A > Score Point 2

This response answers the question correctly and
demonstrates a thorough understanding of the
mathematical concepts. Three is correctly substituted
into the expression, the order of operations is
correctly followed, all calculations and the final
answer are correct.
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R What is the value of 2x° + 4x” - 3x* - 6x when x = 3?

| Show your work.

x33=
o SLf 4‘4"3‘;':: 36 3”5;1:52'?

6x3- g
5‘4*36-‘ C’G C’C*;‘,: 63

63-fg= 45"
Answer us

Guide Paper 2
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Paper

g02

RF Number

N/ZA

Score

2

Notes

Score Point 2

This response answers the question correctly and
indicates that the student has completed the task
correctly, using mathematically sound procedures.
The individual operations are calculated separately;
however, they are all done correctly and in the proper
order, resulting in the correct answer.
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! What is the value ofzf'u( ;AV 6x whenx =37

Show your work.
Answer #5
O x3 37
y 3)(5)(5-:: 27 j}_’_
2x27= Y- 54
1-3@
%\/Ci 2x3=9
? _
2xY=27 5—‘5 3x3= Lx>= 1%
15
g
| b
2 x ez s
2 X 27 54
"5 |
< B . 3 %ﬂb
b W 4 Qq 7
' .21 Uy G=2t
T |

— | Guide Paper 3
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Paper

g03

RF Number

N/ZA

Score

2

Notes

Score Point 2

This response answers the question correctly and
demonstrates a thorough understanding of the
mathematical concepts. The individual operations are
calculated separately; however, they are done
correctly and in the proper order, resulting in the
correct answer. One calculation shown is incorrect
(4(3 < 3 =) 9), but the following line shows the
correct calculation and this inaccurate statement
within the work does not detract from the
demonstration of a thorough understanding.
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- What is the value of 2x° + 4% — 3x* — 6x when x = 3?
Show your wark. r‘\/

— 7/

{i o R A I AN
_ ;2'371"%'333'32__@,;

27 337 Z (g

a ..
2-&7+‘(-‘?2 63

TYY % 24 - 5.3
sY 7'?(27-—f¢;3 @“7
SYt e g7_ 19 AL

Q0 —q 1
Guide Paper 4
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Paper

g04

RF Number

N/ZA

Score

1

Notes

Score Point 1

This response is only partially correct. Three is
correctly substituted into the expression; the
operations on the exponents are performed first,
followed by the multiplication operations. The
numbers 54 and 36 are correctly added. However,
instead of subtracting 27 from 90 or subtracting 18
from -27, 18 is subtracted from 27, resulting in an
incorrect answer. The absence of the first subtraction
symbol does not detract from the partial
understanding of the problem.

Page 11



What is the value of 2 + 4x* — 3x* — 6x when x = 3?

OW Your work. 7 g ?
Sh \; rk Q +érgz—-jf-£3 #%’g
217 cq43c—o1=la _°
f 2 2x3 x3 . 9.
] Bive, 10118
! . *3 6 T
Answer 4_ C{ o
Guide Paper 5
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Paper RF Number Score Notes

go5 N/A 1 Score Point 1

This response is only partially correct. Three is
correctly substituted into the expression, the
exponents are simplified first and then the
multiplication operations are completed. However,
the multiplication error, 6x3=12, and the subtraction
error, 27-12=16 and the change of -27 to 27
result in an incorrect answer. The absence of the
multiplication symbols does not detract from the
demonstrated level of understanding.
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EEE What is the value of 2x* + 4x* - 3x* — 6x when x = 3?

Show your work.

Guide Paper 6

Page 14



Paper RF Number Score Notes
= |

906 N/A 1 Score Point 1

This response is only partially correct and indicates
that the student has demonstrated only a partial
understanding of the mathematical concepts in the
task. Three is correctly substituted into the
expression and the order of operations is correct.
However, the simplification of the exponential terms
is incorrect; the base is multiplied by the exponent.
The resultant answer is also incorrect.
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‘; What is the value of 2x% + 4x% — 3x* — 6x when x = 3?

Show your work,

2 Py, -
. DAY o~ AR p
ET - o P S A
o . . i {
oA . a2 B R ¥
Y L RV, - -
gy =3 NG
7)1 R

]
—_— @ T
S SRLS

Guide Paper 7
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Paper

g07

RF Number

N/ZA

Score

o

Notes

Score Point O

This response is incorrect. The order of operations is
incorrect; the multiplication operations are completed
prior to the exponent calculations.

Page 17



B What is the value of gm 6x when x =3?
s “ 33 6D

Show your work.

Answer &6

AR +HE -2

as 4z 23
@

©
L

Q
e
APR'®
— b6

29
-3

eel

Guide Paper 8
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Paper RF Number Score Notes

gos8 N/A 0 Score Point O

This response is incorrect. An incorrect procedure is
used for the substitution of 3 into the expression, the

exponents are incorrectly simplified, and the answer
is incorrect.
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@I What is the value of 2° + 4x* — 3% — 6x when x = 3?

- Show your work.

Answer J7/ 8\ ’3_1 2&']
S I 1
o 0% 9
%+ Uy -3x - by , '%;
2@) +U(3)- 3@) 63) N k|
W) + U(z9) 337 (a(g) 376 124
(62t Vo3~ G-
A70-%\ - l‘%’ ;
89 -18 _ o
171 17!
Practice Set 1
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! What is the value of 2¢ + 4x* — 3x* — 6x when x = 3?

Show your work.

/ :?X'?*'l’/*'? 3,}/
57 Q3T e DA 33U SH
= Q)"é?)* Uxd - 3*‘? Crz

IRV,
= - Answer 5_

Practice Set 2
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What is the value of 2x° + 4x* — 3x*> — 6x when x = 3?

Show your work. %
9(2)3 + 4(3)7- 337 -
= 9o+ 4(q) - 3(Q) .

=54+36 = 21 AO

Answer @3

Practice Set 3
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® What is the value of 2 + 4x* — 3x* — 6x when x = 3?

Show your work.
37‘3 + Yx* - Bxl
0® +|3"-9*

b+ 24 - 1% = M
Answer g‘q

Practice Set 4
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EEE What is the value of 2 + 4x* - 3’ - 6x when x = 3?

- Show your work. j x3X 3 :ﬂ"?

20— bl
e 5

{BH
L 36
T
7
6o
18

e ——

8

Practice Set 5
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